dcy3jet / drn3jet [pb/GeV]

Ratio to DO

H
o
>

=
o
w

H
o
N

10

[EEY

0.5

1960 GeV ppbar Jets
I T T I T I I I T T n
B | | |_ %
= 3-jet mass (DO P, >70GeV, |y| <2.4) ==
— ' :E
I -1
- o
A\l
= =o
— cﬁ*@ =
m TEa 15
— @*\, _ -2
- ﬁl\z\iﬁ _|x
S Tl E
[ 3+ Pythia 6.426 350 Ny 7
| -—&-- Pythia 6.426 351 =
= - ¥-- Pythia 6.426 352 32
— —1 M
— A Pythia 6.426 353 Hg
o
— --0-- Pythia 6.426 354 19
-~ Pythia 6.426 355 _=§
=~ .o Pythia 6.426 356 =
- Pythia 6.426 357 1<
- Pythia 6.426 358 e
= - =-- Pythia 6.426 359 —= 8
— — U
— — §
I -1 &
- o
. | . . . . | . || E
:I | T T T T [ T |:
- 42
1
B —0.5
1 " | " 1 1 1 1 " | " 1 " |
500 1000 1500



	Contents
	Page 1


